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= ' YMHOXKEeHHue JACCATHYHBIX 3HAKOB Ha CTCIICHb ACCATH

WUms: Jata: ___ Ouenka:___
6,708 x 100 = 5,217 x 1000000 =
8,243 x 100 = 5,23 x 1000 =
2,462 x 10000 = 9,897 x 100000 =
4, 024 x 1000000 = 1,592 x 1000000 =
2,966 x 10000 = 4,074 x 1000000 =
8,77 x 100000 = 1,882 x 10 =
10, 5 x 1000000 = 2,198 x 10 =
2,289 x 100000 = 2,46 x 10 =
4,266 x 100000 = 5,04 x 1000 =
2,47 x 1000000 = 8,662 x 100 =
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VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
6, 708 x 100 = 670.8 5,217 x 1000000 = 5217000
8,243 x 100 = 824.3 5,23 x 1000 = 5230
2,462 x 10000 = 24620 9, 897 x 100000 = 989700
4,024 x 1000000 = 4024000 1,592 x 1000000 = 1592000
2,966 x 10000 = 29660 4, 074 x 1000000 = 4074000
8,77 x 100000 = 877000 1,882 x 10=18.82
10, 5 x 1000000 = 10500000 2,198 x 10 =21.98
2,289 x 100000 = 228900 2,46 x 10 =24.6
4,266 x 100000 = 426600 5,04 x 1000 = 5040
2,47 x 1000000 = 2470000 8,662 % 100 = 866.2
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